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This Question Paper consists of 34 questions.
83 TBITEIODT), HLJND W FoweT ZRTT (ReTF)  [RTWENS.  TOF
T, BOLmndE BRo0308 Q) & FTS,Fob LoD ToIFTI FFOL (WS STOR),
DBWO TIFI F50TIeR. BT TS, FONY, D, RN QT 0T TOFRERY,
This question paper has been sealed by reverse jacket. You have to cut on the
right side to open the paper at the time of commencement of the examination

( Follow the arrow ). Do not cut the left side to open the paper. Check
whether all the pages of the question paper are intact.

BINOR BRLTT RRESMTR TOR.
Follow the instructions given against the questions.

WO mﬁa’@ﬁm%&w 903N @%ﬁ@ﬁmw Tpeas @oﬁmfa‘g{ ASN SV

Figures in the right hand margin indicate maximum marks for the question.
BIBGIODT,  LOIRYLO 15 JWANY  TORTTY  AOTOZ,  LUZOILD
AROTARORR 0TI, TFB,3oh BeTNTE, DRSNS,

The maximum time to answer the paper is given at the top of the question paper.
It includes 15 minutes for reading the question paper.

QR LFORLINTOT BIFE, T @I ( Version ) I I F[ReS TYTY,
BOY,FIINTOT T3 8,303 &3 & 00T SNTPYTIY, 59TOTRERY,

Ensure that, the Version of the question paper distributed to you and the
Version printed on your admission ticket is the same.
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I.

31 ONT JINOR OFT STPLT TevINeR LY, SHNERY, VBN,
OPYNEY T, ARTTHRT WITIT), @0, O[T FHRFTRAOR Fpeor
LOZ TR, WD 10 x 1 =10

Four alternatives are given for each of the following questions /

incomplete statements. Choose the correct alternative and write the

complete answer along with its question number and alphabet :

1. 3redor 6%@52 5T O0WTONTORD €903

(A) TICL Q9T (B) ZoTIT Xen

(C) TRoD RBewWTT S[RNW (D)  TBIT demq&r
Rolling resistance depends upon

(A) Slope of the road

(B) Speed of the vehicle

(C) Materials of the road surface ik

(D) Vehicle's acceleration

2. FRANFT BOPRF T @md#ﬁ Opileprestelss

(A)  Nex (B) &,89%3, 3o
(C) Tedn,edado o (D) e, 1 e S o

An example for natural lubricant is

(A) Grease (B) Animal oil

(C) Petroleum oil (D) Commercial grade oil
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3. OTIT ms&d 3500 QTR 3T

(A) & ooE (B)

(C) 2o (D)

The component that supports the weight of the vehicle is
(A) Strut rod (B) Strut

(C) Spring (D) Ball joint

4, f&w eﬁ{sps B3 OWEE @{sps WS QOTOT airaecé%oda@{ ﬁmwﬁ
LVTO3RCNTIT TOBRNLD

(A) TTONL (B) 2ANL

(C) IOTHT w3, WTINE (D) 83,5

~

Stub axle without rigid axle beam type is widely used on these

vehicles
(A) Cars
(B) Buses

(C) Heavy commercial vehicles

(D) Trucks

5. 30070 &R @@F%mﬁ QTINTBO3TRNOD 33

(A) RRWS 93T (B) 3¢5 w3338
S -0 SR
(C) 8 ©388 (D) ©333
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The actual power delivered at the crankshaft is

(A) Indicated horsepower (B) Brake horsepower

(C) Friction horsepower (D) Horsepower

6. VORI %@ m;ﬁas& 903000 SR YVTFTED
(A) SO0 LOTF (B) &= 2%

8] &3

(C) o B, Fn (D) O

™M

The tool used to check the oil level in the engine is

(A) Oil filter (B) Dip stick

(C) Oil drain plug (D) Funnel

7. TO03 DTROT® ST R, 3SRE0LIT® WART TOBT WTROWRWIET 2
(A) 45,000 $.20¢. (B) 30,000 3.50¢.

(C) 50,000 &.80¢. (D) 70,000 &.Q2¢.

A car's air filter should be replaced after
(A) 45,000 km (B) 30,000 km

(C) 50,000 km (D) 70,000 km

8. @d&g{ BRY030N F9O3 dae%weéoda@t 20300 WSRO mg

(A) Tezo* (B) moe*
(@) @Smg pIate (D) RAT W=
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The material used to wipe the roof of the car while washing the

car is

(A) Paper (B) Sponge B

(C) Tissue paper (D) Plastic brush

T SO BB BRBLIeTOTN 50T, WQFIT FOOINT 8,330

(A) BT ﬁem@;&d@p%, 39,00 Berr  TodTUe,  QouT
%ﬁéﬂ@o@dﬁe&

(B) BTOTO a@m@ﬁ@;ﬁ% 9, 0T 23,05 To30UWeB), VOWT® WoLR
&3NT2IeBD

(C) W ICDBTIT), T, 0T ©,e5° TosTLIeBd, QORI LW
e3NTeIesd ;

(D) BT ﬁem%w@;sa@, T, 0% 365  To%TLIPVTTO, VOIS
%ﬁérﬁ@o@daﬁe&

The correct way of parking the car while changing the oil in the

car is

(A) Car should be on a level ground with hand brake on and

engine off
(B) Car should be on a slope with hand brake on and engine on

(C) Car should be on a level ground with hand brake on and

engine on

(D) Car should be on a level ground with hand brake off and
ESHEEE

engine off
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II.

10. 1978 T ©xQ00Y 520359 ABS wawﬂ@was% cﬁra&zj RRTOR IPDRAIT

FOT
(A) TROTD

(C) =RFRT® Kok

The first company to introduce 'ABS' system in cars in the year

1978 is
(A) HONDA (B) BMW
(C) Mercedes-Benz (D) TATA
BRTTRTE LWSTROT wa.gpm ﬁ@@d&%{ WSF TRER : 4x1=4

Fill in the blanks with suitable answer :

11.

12.

13.

14.

5003 TNOT z%@,sz%mfs% .......................... atleln me@xmmgd.

Door windows of cars are held by ...................... .

BRW BODT W BRIER  BOROTEEY s I

£3030T°ED 0T FT0INTIT.

The tube tyre and tubeless tyres are called ................. tyres.
23,65° 02OTID TWOB/RE +.vvvvvverennnns VB TREIT TTT.
The brake is a .......c.cceueenee creating device.

D), FeRI T VTO3RENTOT N, ET N 20T ..

A grease gunis a ......c..ceeu..e. tool used for lubrication.
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III. 15. A-w%mq es&iracdm%cf YUTTTEING maoamnmfa% Exelch) B-Saioﬁoc?o
G LUTFOONERY  ATBORNT.  SYRI RRODR  YOZTNERY
B, SRFTRRRE 20 : 1x4=4

Uses of automobile tools are given in Column-A and
automobile tools are given in Column-B. Match them and
write the answer along with its letter of alphabet :

A-?Jé\i B-?Jéi
Column-A Column-B
i) DITBIT 233, ﬁ%ﬁ&%{ 3riodoen a) a&w;\)
Removing the wheels of vehicle Snips
i) T[T BRBEINOR b) Qe TowFrnTd
For softer blows Wheel wrenches

iii) AOBWT® STTT TOG,NFRY, BRTODLY  ¢) T, 0 T, T3
To create cylindrical holes Hand hacksaw
iv)  dRTT TFNYIY TZOID d) =»de
To cut sheet metals Mallet
e) /T ?2)@32
Drill bits

f)  W0Ag0eesTt

Multimeter

g R BReT

Tachometer

IV. :39N333ner ogon : 6x1=6

Answer the following questions :

16. AT FVICHOS 00 MRS, FRAND TP ? SR

[SSECNY

What are the two common problems of the suspension system ?
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17.

18.

19.

K%SG"‘S mwoﬁfaemﬁ@{ 2TO00.

Write the use of spanner.

SERESAWYOTY,  VTOIRENTE  CIRPYTITTIR TR Y
SVTFTEINT), RO

Name any two measuring tools used in automobile.
TITBIT GOV 5T, ACVRITDN WTRTTH DT 22080, QF ?

Regular oil change is important for a vehicle. Why ?

20. DTIT DWS[), FIIATTN SRTIBRYLIETIT [00LPN,TD 5,307
oSReye) ?
What are the precautions to be taken during vehicle washing ?
21. CINPTTTTR QT 30T° - 8x° @@mﬁd (%25@{@5@@7&5‘)71@5& SO,
Mention any two top-ten innovations.
V. 3:39nI I 3non evzgdn 6x2=12

Answer the following questions :

22.

Z00WAOD eﬁz:‘;s aojarmﬁa’% mgjm@.

List the functions of front axle.

9559 [ OR

T ST DPNTI Te3 DNE.
5] ~ S 3
List the types of stub axles.
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VI.

23.

24.

25.

26.

27.

xﬂﬁ@e wgwﬂom 2IDE00TT 5T, WO

[&) o

Explain bottoming in suspension system.

95550 [ OR

RRZ® 3,303 CINRR)TOTIR TR STRTIY, DTOR.

o 3R

Explain any two principles of suspension system.

B0, O (IR) 1T, 2ITE00.

Draw the diagram of a hammer.

QTR FPex?, O R0 THBING BFF T, FHFTOTRNS. Ter ?

Two-post lifts are helpful for servicing a vehicle. How ?

DOTIT 38 (RS0 B AODRTETN WHTCWRIERD. OF ?

"Coolant of a vehicle should be changed at regular intervals."
Why ?

M9, BT FeTIOI TV T,30080 LoINTTY S9R.

Mention the four important aspects of customer care.

B3 IENT T, IN9NR 00X ¢ 4x3=12

Answer the following questions :

28.

833, 2° £303003 133,33, 3T, WONNTIY, MOTOSR.

Draw the diagram of a tube tyre and label the parts.
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29. OB T T WY FoOIF DTOTH/IY, WFOR.

30.

31.

VIL. 323N T,3nen wwgdx !

Explain the structure and function of calipers.

Mo, BR0E e TR BOLORRTOZ ‘Vesy MBI [T S9TOERY)
[T, V3O

Explain "know your product"’, with respect to customer sales care.

OIS BITFZ2 B08,ZoRTA, ¢3,0° T, RO° IeREI0ONT 23, :88 00T, W0
= ™Y = 3@ =l

Explain tyre pressure monitoring system in car safety technology.

9550 [ OR

BT ROTFFD  TOZIPTF WOWORATOZ  TOTWETIHL MOV
3,333 0303, QT[OR.
@ LS

Explain sensitive air bag system related to safety technology.
EISFFRE

3xXx4=12

Answer the following questions :

32.

33.

DIBIT YV ¢, 30N 3,337 03 W, FINERY, LTA0.

Write the requirements of a good braking system in a vehicle.

AR, Rews's g, @Y WO, WRRNTRY IR

Draw the the diagram of screw gauge and label the parts.

9559 [ OR

R,y WY QTS 13,3, WICW0.

Draw the diagram of flywheel puller.
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34. Y WTIT GO HOT  OFY  WHTRCWROWIN  STIROAD
&oémfs\& PR

Mention the steps that you follow while changing the oil filter of a

vehicle.

R WoTmT WT° POT* @5;% WHRSCTOTON LITOROROR aoémf@{
SPR.

Mention the steps that you follow while changing the air filter of a

vehicle.
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